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(1)
Si +2NaOH +3H,0 —

Na,Si0, +2H, T +2H,0

2Al +2NaOH +6H,0 —=

2NaAlO, +3H, T +4H,0

(2)
Ca0
CH,COONa + NaOH —Na, CO; + CH, 1

(3)
2NH, * H,0 + CaO

Ca( OH) , +2NH, 1

¢(OH")
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(1) :
Al,( S0,) , + 6NaOH —
2A1( OH) , | +3Na,SO,

(2) -
CuSO, +2NaOH ==Cu( OH) , | + Na,SO,

3.
(1) .
2Fe( OH) , +4NaOH +3NaCl0O ——
2Na,FeO, +3NaCl +5H,0
2Fe( OH) , + 10NaOH +3Cl, ==
2Na,FeO, +6NaCl + 8H,0

(2)
0

I
CH,—0—C—C,,H,,
0

‘ [ +3NaOH ——
CH—0—C—C, H,,
0

|
CH,—0—C—C, H,,
CH,—OH

3C,,H,;COONa + CH—OH

CH,—OH
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(1)
CH, CH,Br + NaOH — —CH, CH,OH + NaBr

(2) :
CH,Br CH,0H

+2NaOH — | +2NaBr
CH,Br A CH,0H
(3) :
CH,Cl CH,OH

CHCI +3NaOHT> CHOH  +3NaCl

CH,Cl CH,O0H
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K, K,=c(H") ¢(OH),
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H* OH" .
’ H* OH"
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3.
Cm( HZO) n ( C6H]2 06) °
C,(H,0), ( CeH, 05) .
( C5H1004) Cm( H2O) n
( CH,0)
( C2H402) °
4. 5.

(1)
CH, CH,Br +NaOH — >CH, = CH, + H,0 + Nabr
(2)

CH,Br

| +2NaOH ——
CH,Br A

CH=CH +2H,0 +2NaBr
(

N o
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